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i2=-1, (w2, o, 1) are the cubic roots of one .

i, T , K ) are a right set of unit vectors .
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The number of the diagonals of the hexagon st S Y sus
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If AB is diameter of the sphere whose
equation is :
(x—52+ @y +2)2+(z—-1)%2=25
where A(2, —3,0),then the coordinates of
the point B are .................

@ (5,-2,1) ® (10,-4,5)
© (10,3,6) @ @8,-1,2)

A s T oS 1)
gdslas
ro="(\-E)+ (v + )+ (0- )
(+et-cv) P olilos] cilss
............ o dai Ol O
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The direction vector of the straight line

x—=2 y+3
L:—=—===—
3 2

@) (3,2,4)
© (4,2,3)

Z =418 ...

® (3,2,0)
@ (2,3,4)
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n Answer one of the following two items:

(A) If the dimensions of a cuboid are 2 , 4 ,
6 cm and its base is the rectangle OABC
such that the origin point O (0,0,0) and
M is the center of the cuboid .Prove that
Cos (£ AMC) ==

(B)IfA 21+]+mk B = 31+2]+3k,
C=mi+2j+k
() Find the volume of the parallelepiped

$ LY (G B8N G | (e i
Tt v oslul olatas ¢ 3l ste (1)

=< jw\@c\)d&\%ﬁ
C‘( )Mﬁ\mjw

'Uw\dj\}“‘;f
%: (> ¢ PNl ol e

: ‘gc+$+$\‘= P oS3 ()
(B YAV YT

g +-\7’\‘+ .\7(:;

in which 4, B, C represent three e (;54“5‘ S 5% > o a1 (i)
adjacent sides on it. e
(i) Prove that these vectors cannot lie in Bglesis
the same plane. oS Y Slgzadt oda 0 W‘ (ii)
G ghaad) s B C?; 8]
5
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B If7C. >1,"Cs >1, TP SPAR (|
then the value of [0 —T —.......0 | ... -] L3O
@ zero ® 1 @ &0
© 7 @ 6 O S
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oo+ =S e+ 0o 13
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A7 Y o
............... =t u«vd\g
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If the intercepted parts made by the plane | s sl o de shail o 5231 38 13)

x + 5y — 6z = 30 with the coordinate axes & el Al g3 31!
area,b,c,thena + b +c¢c =............ >codar=gr- oot
............ >+ ool

@) zero ® 30 v Q@ e (D)
© 31 @ 41 £ @ ¥\ @
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1+i)> . :

(A)If 7 = (1 ) , write Z in the
trigonometric form ,then find its square
roots in the exponential form.

(B) Find in the exponential from, the
solution set of the equation: Z3 = 2 4 2+/3i

1 OGN (e p28N G | (e |

0Oy O\ o o (1

( — )_5d\§\>g(\)

B8y gl Jo g sl i
248 G 53 el sl 5

AV Byl o g

e gazes G 1By B a5l (©)

AN R ='&23>\Ms\&
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n In the expansion of (1 + x )7. O (e Y ) BsSas B
If the coefficient of T, , = the coefficient of 8 el [ L Jelas
Tyriz,thenr=........... such that r > 1 V< m S s = ok

@ 3 b 4 i@
© 17 @ 7 o)
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IfA=(1,-2,1) ,B =(-2,1,2),then
the vector component of the vector A in the
direction of B =.......

d(Vev-cV) =P ol 13

(YeVe¥-) =5

-—

rcal) Gl S 1 0l
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The length of the perpendicular drawn
from the point (1, 5, —4) to the plane:
2x+y—2z=0equals........... length
unit.

M‘Q‘C}“J‘J\J}&’Mdjb
G5l o (£ o)
c=EY— et oY
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If the ratio between the fifth term in the
expansion of (X + 916)15 and the fourth
term in the expansion of (X - xlz)14 equals
-1 : 15, find the value of X

oSl Ul s Al oS 13

Aol s ‘°(i+w) 3 e

\£<; —Q-v) ﬁjg.u U.Aci\)\
o

ww»—j \0:\—6j\.ﬂ3
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Ifz, = 2i

equals

@
©

,Zy = —1 4+ 3i, where
i?= —1, then the amplitude of (Z; — Z,)

................ ng\‘...?
T Y
= ¢

wwyjailledg o
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If A, B are two unit vectors ,then A « B €

@ 10,1 b 1,17
© [-1,1] @ RY
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Without expansion the determinant ,

Prove that :
X a b
a x b
b a x

=((x+a+b)(x—a)(x—Db)

() ST susd) b O o

o p o
o o
uﬂ P [
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Find the different forms of the equation of

the straight line whose Cartesian equation
. x-3 6 : :
1s :xT = %, y = 4 ,then determine a point

lies on this straight line.

Jasdl Dslaed i) ol dsm gl
A3 aY) adslae (g A) s,...ad_.../a)\

i:& ¢ 1+& = ‘ﬂ_w
2

v
V.@.Ms Nie e oz asl V’

21
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(a+ bw + aw?)(a + bw? +aw*) =.......

@) (a-—b)?
© 1

® a-b
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Prove that the points : A(1,3,5),
B(4,4,0),C(-1,2,4)arenot

‘(o‘h\)P:Ja’i:J\QTﬁ,..:ﬂ
(£cYe)V-) > (rctet) o

collinear ,then find the different forms of o) @ Bty delind Jo oo

the equation of the plane passes through S

these points .

wjailleig ol

j;;,.d\ Aoladd  dalisddt J}ﬁaj\
el edg HWI
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Solve the following system of linear
equations using the inverse matrix:
2x+y=-1,
3x+2y—z=-5, 2z+y=1

LW adasdl e sladdl Pl Jo
;ﬁ}w&ﬁ\w@\ﬁwg
N==gpt Y

¢ 0— =(°,*uov+uﬁ‘

V= tEY
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